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An RFID chip can be used to track stock.

e | false
[N]

‘Answers to multiple choice exam papers can be read v

using an Opical Mark Reader.

MICR reads the information on a credit card. v

The chip on a credit card is read by a PIN reader. v
7

4 correct answers — 2 marks
2 0r 3 correct answers — 1 mark
0 or 1 corect answer — 0 marks.
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Any four from:
The SSD is lighter in weight than the HDD therefore the laptop will be lighter
and more portable

The speed of access in SSD is a lot quicker

The speed of data transfer in SSD is a lot quicker

There is less chance of the data becoming corrupted as it can save whilst the
aptop is moving

s a smaller device therefore the laptop will be smaller/thinner

SSD uses less energy

Less chance of impact damage
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Any three from:

As the elements are separate units there is more choice of devices/can be
replaced if fails

Can be easier to upgrade

Easier to reduce glare on screen as it is separate

Laptop more expensive for same performance

Lower chance of it being stolen/lost
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System | Applications
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Alinker v

A database v

An operating system v

An applet v

4 correct ticks = Two marks.

2 0r 3 correct ticks = One mark

1 or 0 correct = Zero marks
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‘Smartphones are more portable

Smartphones are lighter in weight

Desktops cannot be used on the move//desktops need surfaces to work on
‘Smartphones have integral devices//desktops have separate keyboard/monitor
‘Smartphones can use 3G/4G/5G communications link

‘Smartphones are battery powered//Desklops require a constant power supply
Desktop requires exira hardware/software

Desktop computers have a larger screen

Desktop computers have a larger keyboard

Desktop the footprint is larger

Desktops more powerful

‘Smartphones have more chance of being damagedistolen as they are portable
‘Smartphones tend to use modified websites//desktop can access more
websites
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3D | Laser | Dot matrix
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“This printer prints layer by layer v

“This printer is an impact printer v

“This printer is a form of ink jet printer v

“This printer produces high quality output v

quickly
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Two from:

Save - saves the current file with the same file name, Save As - saves the
current file with a new name/selected file name

Save - saves the current file in the same location/folder, Save As — saves the
current file in a different folder/location

Save - saves the current fle with the same file type, Save As - saves the
current file with a new file type
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Three from, for example:
Temperature sensor
Humidity/moisture sensor
Light sensor

Pressure sensor
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Microprocessor stores start time/time the sprinkler tums on as a preset value
Microprocessor stores end time/time the sprinkler tums off as a preset value
Microprocessor compares current time with end time/start time/preset value
If the current time and the start time are the same, microprocessor tums on
the sprinkler

If current time is less than end time/preset value, then sprinkler remains on

If the time has been reached/exceeded the microprocessor tumns off the
sprinkler

Continual process
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Two from:

Greater productivity

Cheaper in the long run

Standard of the product is more consistent

Robots work 24/7

Robots can work in hostile/dangerous environments/dangerous to humans




image13.png
Three from:
Buttons
Touch screen
Microphone
Camera
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Flash memory card reader
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Speaker/headphone
Touch screen

LED bulb

Buzzer
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This interface does not need a pointing device v
This is an example of a WIMP interface v
The user has to type in instructions v
v

This interface takes up more memory in the computer
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Disadvantages:
Maximun five from:

A dot matrix printer is noisier when it prints therefore would not be used in an
office

Printing is slower using a dot matrix

Dot matrix prints line by line, whereas a laser is a page printer

Dot matrix printers cannot easily handle large print jobs, whereas laser printers.
can

Printer ribbon is more expensive that toner

A dot matrix has more limited colour facilies as it uses  ribbon

Print quality is lower than a laser printer

Advantages:
A dot matrix printer can be used is harsh conditions

A dot matrix uses a ribbon and ink which is far safer than toner which gives off
ozone

A dot matrix uses multipart stationery therefore carbon copies can be made as
it prints.

Can use continuous stationery therefore less chance of the paper running out
during a print job.
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(a)

Alinker

(b) | Atouch screen
(c) | Vision enhancement
(@) | Quantum cryptography
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Wand/joystick

Pressure mats

Data gloves/gloves with sensors

Head mounted device(HMD)/Microphones
Steering wheels/consoles

Pedals

Paddles

Cameras

Motion sensors
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Two from:

Headsetihead mounted displays/goggles
Speaker/headphones

Monitor/projector

Olfactory devices

Haptic/tactile

Virtual Retina Display (VRD)




image21.png
Six from:

Benefits
The user is not restricted to the predetermined options//the GUI uses icons and set menus

The user has more control over the computer settings/in GUI computer settings are protected from the user
Uses less memory than GUI

Requires less processing power for the interface

More processing power is made available for the task

Drawbacks
The commands used have to be leamt

The commands used have to be remembered

The commands used have to be typed in/entered exactly

Have to remember the exact path/correct name of application

More prone to errors on data entry

Commands have o be typed in/fin a GUI can use touchscreens/mice

Tends to be used by specialist people//GUI is more user-friendly and can be used by non-experts

To gain full marks both benefits and drawbacks are required




image22.png
Physical components of a computer system

(b)

One from:

Programs for controlling the operation of a computer
Programs for processing of data

(©)

One from:

System
Applications

(d)

Touchscreen
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The data on the MICR is human readable easier to check the data
Cannot be read by MICR if the cheque is illegally photocopied
Higher security than using bar codes.
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Two from:
~ Data in RAM can be lost if computer shuts down/volatile
- Data in RAM can be corrupted
- Data in RAM can be accidentally deleted
- RAMis relatively very expensive per unit of memory
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Pen drives are used to make backups on large company file servers.

Magnetic tapes use direct access when searching for records.

Fixed hard discs have slower access times than optical discs.

DVD RWs allow you to save new data to them
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(a) Two from:
Pen drives are easier to carry than CDs
Most computers have USB ports ot all have CD drives
Pen drives store more data than a CD

(b) Two from:
Pen drives are more expensive than CDs
Pen drives are easier to lose than CDs
Saving directly to a pen drive can be problematical




image1.png
internal external
Mouse v
Video card v
Printer v
Actuator v

2 marks for 4 correct ticks
1 mark for 2 or 3 correct ticks.
0 marks for 0 or 1 tick
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Ergonomic keyboard
Ergonomic mouse
Microphone

Wrist rest
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